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The Distributive Property can be used to simplify algebraic expressions.

m Use the Distributive Property to rewrite each expression.

(1 ECRE) € 2a-»

3(a +5) = 3(a) + 3(5) Distributive Property ~ —2(d — 3) = —2[d + (—3)]  Rewrite d— 3 as
=3a+15 Simplify. d+(-3).

—2(d) + (=2)(—3) Distributive Property

=-2(d)+6 Simplify.
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Use the Distributive Property to rewrite each expression.

1. 6(z + 4) 2. —7(c+2) 3. (d +5)9 4. (h +8)(—3)
5. 5(y — 2) 6.3(6 —n) 7. —4(s — 4) 8. 92 —p)
9. 2(3x + 1) 10. —5(4n — 5) 11. 8(u — 2v) 12. 3a(7b + 6¢)

Identify the terms, like terms, coefficients, and constants in each expression.

13.4b + 70 + 5 14. 8 + 6t — 3t + ¢ 15. bx +4—x—1

Simplify each expression.
16. h + 6h 17. 10k — & 18. 3b +8 + 2b

19. 4 +5v +v 20. —2f+3—2f—8 2l. -7s —5—-Ts+9
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@@ Solve —2a + 6 = 14. Check your solution.

Method 1 Vertical Method Method 2 Horizontal Method
20 +6=14 Wit the equation. ~2a+6=14
Subtract 6 from cachside.  —2a+ 6 — 6= 14— 6
Simpliy. ~2=8
Divide each side by 2. -8

2
Smpity. a=—4
Check  —2a+6=14  Wrtethe equaton,

~2(~4)+ 6214 Ropiaco awith —4 o seoif tho sentence s truo.
14=147  Thesentencols tne.
The solution is —

‘Sometimes it is necsssary to combine liks terms before solving an equation.

@CEIIED Solve 5 =8v — 2 - 7. Check your solution.
Wite the equation.

Gomtine e torms.

AT 1 oach side.

simpiy

Dvido cach sdo by 6.

simpiy

Ghock hs soution.

Solve each equation. Check your solution.
12d+7=9 211=3:+5 3.25-4=6

4. -12=5r+8 5 —6p—3

6 -l4=3x+x-2
T.he+2-3=10 8.3+Tn+2m=21 9.21=6r+5-17r
10.8 - 56

7 12. -3t +4=19

13.2+4=5 1B.4-L=0
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Translate each sentence into an equation.
1. Three more than cight times a number is equal to 19.

2. Twelve less than seven times a number is 16.

3. Four more than twice a number is ~10.

4. Nine less than five times a number is equal to ~30.

5. ART Ishi bought a canvas and § tubes of paint for $24.95. If the canvas cost $6.95, how
‘much did each tube of paint cost?

6. ENGINEERING The world's two highest dams are both in Tajikistan. The Rogun dam is 35
‘meters taller than the Nurck dam. Together they are 635 meters tall. Find the height of
the Nurek dam.

U.S. PRESIDENTS For Exercises 7 and 8, use the.

- " N . Age at First
information at the right. President
e e Bl e[S |
the time he died, the result s 45 years. How old R. Reagan 69
‘was President Reagan when he died? G.H.W. Bush
‘W. Clinton 46
G.W. Bush 54

8. If you divide the age of the first President Bush
when he was inaugurated by 2 and add 14 years,
you get the age of President Clinton when he was
first inaugurated. How old was President G. H. W.
Bush when he was inaugurated?

9. GEOMETRY Find the value of x in the triangle at
the right.

10. ALGEBRA Three consceutive integers can be
represented by n,n + 1, and n + 2. If the sum of
three consecutive integers is 57, what are the
integers?
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@&ITEM Solve 3x — 9= 6. Check your solution.

Wit tho oquaton.
‘Subiract 3 rom each side.
Simpity.
Mentaly divide cach sid by 3.

To check your solution, replace x with ~3 in the original equation.

Check  3x-9=6r
3(-3)-9 2 6(-3)
18- 18/

Wit tho oquaton.
Roplace x wih 3.
Tha sentenca i fue.

Solve cach equation. Check your solution.

16s-10=

4140 -8=6t

7. -4b-5=3b+9

10.85 — 32 = 8

2.8 =4r—16

5. k+20-9k 4

8.6y -1=271—y

10 10x+8=5x -3

3.25-3u=2u

6. 1lm+13=m +23

9. 16k — 72 = 4h — 30

12.16-7d=-3d +2
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Solve cach of the following showing all work

1) 40+ 14x = 2(—4x - 13) 7) S(n+2) =3(5+ 10m)

2) 3(d+12)=8—4d ) 2(39+2)=2(129 +8)
Hw+3I=w+6 9 4y+y+1=7(y—1)

4) 9y =—2(y+5) 10) —15¢ +7c+1=3—8¢
5) 3k—7k=5+4k 11) 59— 11=8g —2—2(3g)

6) 8h=4(2h +1) 12) g(u—a) =3x




